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All Candidates' performance across questions

Question Title N Mean SD Max Mark FF Attempt %

1 920 2.7 0.5 3 89.3 100
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.


6. (a) A company was set up with 500 workers.
At the end of each of the first three years the company employed more workers.
The number of additional workers employed each year was equal to two-fifths of the
number of workers that were there at the start of that year.

How many people worked for the company in the fourth year? [4]
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6.

fal A company was set up with 300 workers,

At the end of each of the first three years the company employe more workers.
The number of additicnal workers employed each year was egual to two-fifths of the
number of workers that were there at the start of that year [

Heow many people warked for the company in the fourth year? [4]
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{a) A company was set up with 500 workers,

At the end of each of the first three years the company employsd more workers.

The number of additional workers employed each year was equal fo two-fifths of the

number of workers that were there at the start of that year.

How many people worked for the company in the fourth year?
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Sticky Note
Final answer incorrect as candidate has continued to an extra year.


faj A company was et up with 500 workers,
Af the and of sach of the first three years the company amploved more Workers.
The number of additional workers employed each year was equal to two-fifths of the
numbar of workars that were there gt the start of that year. -

How many people worked for the company in the fourth year? 14]
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faj A company was setup with 500 workers,

At the end of each of the first three years the company employed more workers, ‘
The number of additional workers employed each year was equal to two-fifths of the
number of workers that were there at the start of that year. e

How many people worked for the company in the fourth year? (4]
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Sticky Note
Candidate has used simple fractional increase instead of compound increase.
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(b) A newspaper published the following graph.

Reported crimes

500

400 -
3004 2010
2011

200 -
2012

100 -
-—2013

0'\\\\\\\

T

I
T

Comment on how this graph could be misunderstood and give the reason for this. 2]
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(b) A newspaper published the following graph.
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Sticky Note
The reason for the misunderstanding is given but not what the misunderstanding could be. (1 mark)
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{b) A newspaper published the following graph.
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Sticky Note
Both the reason for the misunderstanding and the possible misunderstanding given (2 marks).
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10. A building society is advertising the following savings scheme.

e N
SUPER SAVER

Interest rate: 6% per annum

Interest is paid to you every 4 months
\ /

The building society must tell customers what the Annual Equivalent Rate (AER) is on this
savings scheme.
The formula used to calculate this AER is

R N
AER—{(1+W) —1}<100

Where R is the percentage interest rate per annum shown in the advert,
and N is the number of interest payments you receive in one year.

Calculate the AER on this Super Saver scheme.
Give your answer correct to 2 decimal places. [3]
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10.

SUPER SAVER

Interest rate;: 6% per annum
Interest is paid to you every 4 months ]

—

The building society must tell customers what the Annual Equivalent Rats [AER) is on this
savings scheme.

The formula used tz calculate this AER is

AER = [{1 i j" -1|x100

Where R is the zercentage interest rats per annum shown in the advert,
and N is the number of interest payments you receive in one year.

Calculate the AER on this Super Saver scheme.
Give your answer correct o 2 decimal placss.
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{b) A newspaper published the following graph.
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SUPER SAVER ?

Interest rate: 6% per annum
Interest is paid to you every 4 months

The building scciety must tell customers what the Annual Equivalent Rate (AER) is on this
savings scheme.

The formula used to calculate this AER is

AER:[{1+ 1013._\,)"' ~1x100

Where R is the percentage interest rate per annum shown in the advert.
and N is the number of interest payments you receive in one year.

Calculate the AER on this Super Saver scheme.
Give your answer correct to 2 decimal places. 3
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Sticky Note
Used N = 4 rather than N = 3.


{b) A newspaper published the following graph.
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Sticky Note
Here both the cause of the misunderstanding and the possible misunderstanding are given.(2 marks)
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June 2014 UNIT 1

Higher Tier v | Mark Comments
Ribbon marking for 6(a) and 6(b).
6. (a) 500 + 500 x “/5 or equivalent M1 | Allow M1AO for <200’. Allow M1A1 for 200 extra’.
=700 Al M1A1 implied by sight of 1100 (or 1300).

Two further correct steps.
(Number of workers =) 1372

M1 Ignore continuing to an additional year.
Al C.A.O. Mark final answer.
Alternative method.

500 x (1.4 M2

SRR NEN

=1372 A2
Allow
500 x (1-4)* M2
=1920-8 (or 1921) Al
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June 2014 UNIT 1
Higher Tier

Mark

Comments

7.(b) A comment that states that it may appear that
reported crime has decreased because the

axes are not perpendicular.

B2

Accept any wording that suggests this.
B1 if only refers to the misunderstanding.
B1 if only refers to the reason.
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June 2014 UNIT 1

Mark

Comments

Higher Tier
10. Useof R=6 AND N=3 Bl
3
[(1+L) —1]><1oo M1 | Allow FT for N = 4 only.
100 x 3
(AER =) 6-12 (%) Al N =4 leads to an answer of 6.14 (%)
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